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PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Find the envelope of the family of starlight lines
y=tx—t3, t being the parameter.

y=tx -t aramp CpiCGar @ AsmELder supelanuwis
s, QIS ¢ penE) LIGHTLIGTEA! 2ELD.

Define radius of curvature.

CUENETE YTHMS CUETLINEHS.

Find the radius of curvature of the curve
r=asiné at the pole.

r=asinfd agib amaaorEg gme Ldalulsg)
CUGNETEY <BLTLD GHITEwTS.

Define asymptotes.

QAzrerasAsTHCHTH aumqupIEs.
Evaluate : Tmb 9deé.

wHIADS : ‘—»wbmm% .

Se - e v Calesdn
w/%%@ Ty ey

and

éuweogm wmpm&ow coﬁiombwoemmbmﬁmssm
functions. :

Siinm . wpmd  smor  emisErEE  @erGuwmer
Qam_mYener er(pgis.
Show that Tn+1=nI'n if n>0.
n>0 erafled I'n+1=nln erens snaws.
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Find p for the curve x® + y® = 3axy at ﬁ.w%‘w%w.
auemeTeueny x° +y° = Saxy -5@ hm%.wmu - g5 p
ST,
Prove that the (p-r) equation of the cardioid
3
= a(l-cosd) is p® =—.
r=a(l-cosf) is p o
@sweyw  r=all-cosf)-an  (p-r)  swewLE
. 3
2 _T i :
=— &.
B e

Find the rectilinear asymptotes of
2x* —5x%y? +3y* +4x° — 6y + 2% +y* —2xy+1=0.

22t —Ba’y® +3y* +4x° ~ 6y + 2% + 5% — 20y +1=0
6@ Cpi&Cam_(Hs Qsraas AsTHCsTHs6 SNaTs.
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Evaluate “._. w&a =
xX: =&
wHIGGHS : -_. a&..r 3
x*-a®
2’
Evaluate : ._. cos® x dx .
0
72
wHAIIGS - ._.oomm.a dx
0
z/2
Evaluate : .—mwba x cos® x dx .

0

7/2
LEHIINPS : wam x cos® x dx
0

11
Evaluate : 4:32 dx dy.
00

wHINGs : w_.w_.aw dx dy
00

Evaluate : .: ._.axi *2 dx dy dz .

wfu9@s: [[[er> dx dy de
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#f2
Evaluate : b‘
0

dx
9cosx +12sinx

#f2

LHaGs |

0

dx
9cosx +12sinx

/4
Show that ._. log(1+tand) df = M.Hom 2
0 .

nf4
._.Homﬁ +tand) d@ = mﬂom 2 TAEHETETS.
o

abe 5

Evaluate : :.._.Ax +y+2)dz dy dx .
000 °
abe

wANIGS : .—.:Aa+e+uv&u dy dx .
000
/2

Evaluate : _.)\ﬁmb% dé.

0

xf2

ofuGGs: [Jtano do
0
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PART C — (3 x 10 = 30 marks)
Answer any ,E..H.wwm questions.
F 5@ the opﬂmﬁob of ﬁpo evolute of the vmumvoym
y® =4azg.
ng._o.sﬂﬁ_.w“ ..z =4ax |&@ QW?@&WQW:@
qu_ls.ea_.as m_bm_:._:@ SIS, . ,
W< ovwamubm the order of Eewm.nmﬁob , 98758
.— .—ih_« dx dy.

-

Q&:gm__g_lmw_maqma 938@ Goms.easE E:.e.a. S%E_b@&
% %| dz dy.

Evaluate _.zau\& dxdy dz taken through &5
positive octant of »wo gphere x? + % + 2% = a?

%%+ y? +22 = g? 9.9@ Qmaﬂm%g _.m_as& &remT
Qﬁ:QDE@%B& ._.:RQN dxdy dz-g B%Eb@,&.

H.,Em. the area between ﬁ% eurves y®=4x and
x? =4y:

aemateuerasr ¥y =4x  wpgLd X’ =4y
@enLtiLil L LTUenLI& SreTs.
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_ Express

functions

1

1

1
E
0

10

_.Rm@ - %) &a .

0

p

p

"1-x") dx

interms. of gamma

and evaluate the integral

..-.asﬁl.aav dx-ean effleunszseng amom  gmmllen

g
aumuieons
1

10

m@%m@_

LHHILD Sigenenmy

_.am AH I.Bwv dx —en B&EQEEE sreRTe.

0
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